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+ 1—0—0 + 100 0.00 — 419635 — 50.55 0.00 )
TEEEM = 51580
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SHK A=) I RIGHRET 5] 462,190.00| 475700.00] 8052 | T /8-177-2
EETE
W TSR S£XKHFRA
K5 S R HAEE =50
K(##8) *H: &8 13.87
K1 I0—39L— CHERED TR - AR KRB (F2REHEE)] 4.9tH * 13.87 17,100 26,104
K2 - -
K3 - -
R(777%) 85.39
R1 TEEEE 28.07 21,600 19,740
R2 TR AR 17.10 25,500 25,620
R3 HHRIEXE 13.89 24,700 22,680
R4 BEERF (%) 13.30 24,600 23,835
Z(F ) 0.74
Z1 Bl 1. 25 /\kO—)LEAH 0.74 115 146
Z2 - -
Z3 - -
Z4 - -
S(T15 H {ifi) - —
FER
T e e e
+ 28.07 x 19,740 + 17.10 x 25,620 + 13.89 22,680 13.30 x 23,835 85.39
100 21,600 100 25,500 100 24,700 100 24,600 28.07 + 17.10 + 13.89 + 13.30
+ (e menm t 100 T — Rbaraid— BE T+
+ 1—0—0 x g + 100 — 13.87 — 815639 0.74 0.00 )
EEEM 475,700.00
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EETE
HHniESE — R
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B S R HAEE =50
K(#4) *H: &8 0.00
K1 - .
K2 - -
K3 - -
R(777%) 100.00
R1 Bh<T 46.06 26,300 24,885
R2 TEEXE 32.13 21,600 19,740
R3 TR AR 9.53 25,500 25,620
R4 - -
Z(# ) 0.00
Z1 - -
Z2 - -
Z3 - -
Z4 - -
S(T15 H {ifi) - —
FER
GBI 11,76500 x {( —— 2 —x o +— 0 - Eoo _ _
+ e o oo I T oo - Rl  BE @3 @3 @
+ o 1_0_0 x —0— + 1_0_0 —0— + 1_0_0 —0— + 1_0_0 x —0— ) = + - Ofo = =
+ 1—0—0 x g + 100 — 0.00 — 1 (1)8(5)0 0.00 0.00 )
EEEM 11,070.00
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EETE
e T 15 Ff S£XKHFRA
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B S R HAEE =50
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K1 R—yo g 2o [O—a)—R"—hyiar- AEXVRE] 55kWik 19.01 53,300 53,300
K2 - -
K3 - -
R(FH %) 45.84
R1 (= 29.05 23,500 20,580
R2 ez 3= 5.48 24,700 22,680
R3 TEEXE 4.26 21,600 19,740
R4 TR ERER 2.51 25,500 25,620
Z(# ) 33.06
Z1 FRERAREMME (SGP JIS G 3452) EHRLCELE 90A 33.06 1,240 2,100
72 - -
Z3 - -
Z4 - -
S(T15 H {ifi) - —
FER
MEBE = 404090 x ‘196%‘ x §§j§88 + e X - — 0y —— 2110 _ _
+ 29.05 x 20,580 + 5.48 22,680 + 4.26 x 19,740 2.51 25,620 ) x 45.84
100 23,500 100 24,700 100 21,600 100 25,500 29.05 + 5.48 + 4.26 + 251
+ o 3136%6 x 333 + 1_0_0 —0— + 1_0_0 x —0— + 1_0_0 x —0— )X 3306 33%06 = =
+ 1—0—0 + 100 — 21.10 — 41562(3)4 — 33.06 0.00 )
TEEEMm = 4781.00
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